
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(iQjojh eSx”khu tk¡p ijh{kk)
fnukad& 10.02.2019

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth Nik gSA izR;sd iz'uka'k esa 
pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA 
;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	ukWFkZ lsafVuy }hi ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g }hi caxky dh [kkM+h esa fLFkr y{k}hi lewg 
dk ,d }hi gSA

	 2.	 ;g }hi nf{k.k vaMeku iz'kklfud f”kys ds 
varxZr vkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 2.	VªkaltsaMj O;fDr (vfèkdkjksa dk laj{k.k) foèks;d] 2016 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl foèks;d ds ekè;e ls fdUujksa dks Hkh 

lkekftd thou] f'k{kk vkSj vkfFkZd {ks=k esa 
vk”kknh ls thus dk vfèkdkj fey ldsxkA

	 2.	 bl foèks;d esa f”kyk tk¡p lfefr }kjk izek.k&i=k 
nsus dh ctk; VªkaltsaMj O;fDr;ksa dks Lo&vuqekfur 
fyax igpku dk vfèkdkj fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 3.	ekr`Ro ykHk (la'kksèku) vfèkfu;e] 2017 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl vfèkfu;e ds ekè;e ls efgyk deZpkfj;ksa 

ds Hkqxrku ;ksX; ekr`Ro vodk'k dks 12 lIrkg 
ls c<+kdj 26 lIrkg dj fn;k x;kA

	 2.	 efgyk ,oa cky fodkl ea=kky; us bl vfèkfu;e 
dks izksRlkfgr djus gsrq ekr`Ro vodk'k izksRlkgu 
;kstuk dh ?kks"k.kk dh gSA

	 3.	 bl vfèkfu;e dk mn~ns'; fdlh izfr"Bku esa izlo 
ds igys vkSj ckn esa ,d fuf'pr vofèk gsrq 
efgykvksa ds jks”kxkj dks fofu;fer djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 4.	jk"Vªh; isa'ku iz.kkyh (,uih,l) ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ns'k dk dksbZ Hkh O;fDr ,uih,l esa 'kkfey gks 

ldrk gS] c'krsZ mldh vk;q 18 ls 65 o"kZ ds 
chp gksA

	 2.	 dsanz ljdkj us 1 tuojh] 2004 ls bl iz.kkyh 
dks l'kL=k cy lfgr 'kq: fd;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 1.	 Consider the following statements in the context 
of  North Sentinel Islands:

	 1. 	This island is archipelago of Lakshadweep 
islands located in Bay of Bengal.

	 2. 	This island comes under the South Andaman 
Administrative District.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 2. 	In the context of the transgender persons 

(protection of rights) bill, 2016, consider the 
following statements:

	 1.	 Through this bill, the transgender persons 
will also get the right to live independently 
in social life, education and financial sector.

	 2.	 In this bill, instead of providing certificates 
by the District Investigation Committee, 
transgender persons have been given the right 
to self-perceived gender identity.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 3.	 With reference to the Maternity Benefit 

(Amendment) Act, 2017, consider the following 
statements:

	 1.	 Through this act, the payable maternity 
leave of women employees has been 
increased from 12 weeks to 26 weeks.

	 2.	 In order to encourage this act, the Ministry 
of Women and Child Development has 
announced the Maternity Leave Incentive 
Scheme.

	 3.	 The purpose of this act is to regulate the 
employment of women for a certain period 
before and after the childbirth in an institution.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 4.	 Consider the following statements in the context 

of National Pension Scheme (NPS):
	 1.	 Any person of the country can join the NPS, 

provided his age is between 18 to 65 years old.
	 2.	 The Central Government has launched this 

system with the Armed Forces from January 
1, 2004.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 5.	;wjksih; la?k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 orZeku esa bl la?k esa fczVsu lfgr dqy 28 ns'k 
gSaA bldk eq[;ky; cqzlsYl esa gSA

	 2.	 ;g la?k ,d jktuhfrd rFkk vkfFkZd laxBu gSA

	 3.	 ;wjks”kksu bl la?k ds oSls ns'kksa dk laxBu gS] 
ftUgksaus ;wjks dks viuh jk"Vªh; eqnzk ds :i esa 
viuk;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2

	 (d)	 1, 2 vkSj 3
	 6.	'ksatsu {ks=k ds lanHkZ esa fuEufyf[kr dFkukas ij fopkj 

dhft;s%

	 1.	 blds varxZr dqy 28 ;wjksih; ns'k 'kkfey gSaA

	 2.	 blesa ;wjksih; la?k ds 28 ns'kksa esa ;wukbVsM foaQxMe] 
vk;jySaM] Øks,f'k;k] lkbizl] jksekfu;k vkSj 
cqYxkfj;k 'kkfey gSaA

	 3.	 ;g mu ns'kksa dk laxBu gS ftUgksaus yksxksa ds Lora=k 
vkSj vckèk vkokxeu ds fy;s viuh vkarfjd 
lhekvksa dks lekIr dj fn;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3

	 (d)	 1, 2 vkSj 3
	 7.	tyok;q ifjorZu ij la;qDr jk"Vª izsQeodZ (;w,u,iQlhlhlh) 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blds varxZr dkWi ds 24 osa l=k dk vk;kstu 
iksySaM ds dkVksokbl esa fd;k x;kA

	 2.	 ;g ,d varjkZ"Vªh; le>kSrk gS ftldk mn~ns'; 
ok;qeaMy esa xzhugkml xSlksa ds mRltZu dks 
fu;af=kr djuk gSA

	 3.	 ;g le>kSrk twu 1992 ds i`Foh lEesyu ds 
nkSjku fd;k x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3

	 (d)	 1, 2 vkSj 3

	 5.	 With reference to the European Union, consider 
the following statements:

	 1.	 Presently, there are 28 countries including 
Britain in this Union. The headquarters is 
located in Brussels.

	 2.	 This Union is a political and economic 
organization.

	 3.	 Eurozone is the group of countries of this 
union, which adopted the Euro as their 
national currency.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 2 only
	 (d)	 1, 2 and 3

	 6.	 Consider the following statements in the context 
of Schengen area:

	 1.	 It comprises total 28 European countries.
	 2.	 It includes the United Kingdom, Ireland, 

Croatia, Cyprus, Romania and Bulgaria in 
28 countries of the European Union.

	 3.	 This is the group of countries that abolished 
their internal boundaries for the free and 
uninterrupted movement of people.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 3 only	
	 (d)	 1, 2 and 3

	 7.	 With reference to the United Nations Framework 
Convention on Climate Change (UNFCCC), 
consider the following statements:

	 1.	 Under it, the COP-24 session was organized 
in Katowice of Poland.

	 2.	 It is an international agreement that aims to 
control the emissions of greenhouse gases 
in the atmosphere.

	 3.	 This agreement was agreed during the June 
1992 Earth Summit.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 3 only
	 (d)	 1, 2 and 3



4lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 8.	O;fDrxr fo'ks"kkfèkdkj ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;s vf/dkj lnu ds lnL;ksa dks O;fDrxr :i 
ls miyC/ gSaA

	 2.	 lnu ds fdlh lnL; dks lnu dh dk;Zokgh ds 
nkSjku] dk;Zokgh izkjaHk gksus ls 40 fnu iwoZ rFkk 
dk;Zokgh dh lekfIr ds 40 fnu ckn rd canh 
ugha cuk;k tk ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 9.	miHkksDrk laj{k.k foèks;d] 2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g miHkksDrk vfèkdkjksa dks Li"V djrk gS vkSj 

[kjkc oLrqvksa ,oa lsokvksa esa nks"k ls lacafèkr 
f'kdk;rksa ds fuokj.k ds fy;s O;oLFkk iznku 
djrk gSA

	 2.	 ;g foèks;d miHkksDrk laj{k.k ij lykg nsus ds 
fy;s f”kyk] jkT; vkSj jk"Vªh; Lrjksa ij miHkksDrk 
laj{k.k ifj"knksa dh LFkkiuk djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	10.	jk"Vªh; fpfdRlk midj.k lao¼Zu ifj"kn ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl ifj"kn dk xBu okf.kT; ,oa m|ksx ea=kky; 

ds rgr djus dh ?kks"k.kk dh xbZ gSA

	 2.	 bl ifj"kn dk usr`Ro vkS|ksfxd uhfr ,oa lao¼Zu 
foHkkx ds lfpo djsaxsA

	 3.	 vkaèkz izns'k dk esMVsd ”kksu bl ifj"kn dks 
rduhdh leFkZu iznku djsxkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	11.	fyaxk;r ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ckloUuk ds vuq;k;h fyaxk;r dgyk,A

	 2.	 ;s e`rdksa dks tykus dh ctk; niQukrs gSaA

	 3.	 ;s czkã.koknh tkfr O;oLFkk ,oa iqutZUe dks 
ekurs gSa rFkk ewfrZiwtk dk fojksèk djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3

	 8.	 In the context of the Individual special rights, 
consider the following statements:

	 1.	 These rights are available to the members of 
the Parliamentry House individually.

	 2.	 A member of the House can not be detained 
during the proceedings of the House, 40 days 
before the commencement of proceedings 
and 40 days after the subversion of the 
proceedings.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 9.	 With reference to the Consumer Protection Bill, 
2018, consider the following statements:

	 1.	 It clarifies the rights of the consumer and 
provides a mechanism for redressal of 
complaints related to defected goods and 
services.

	 2.	 This bill establishes consumer protection 
councils at district, state and national levels 
to advise on the consumer protection.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 10.	 Consider the following statements in the context 
of National Medical Devices Promotion Council:

	 1.	 This council is to be set up under the 
Ministry of Commerce & Industry.

	 2.	 The Council will be headed by the Secretary 
of Department of Industrial Policy and 
Promotion.

	 3.	 Andhra Pradesh MedTech Zone will provide 
technical support to the Council.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 11.	 Consider the following statements in the context 
of Lingayat:

	 1.	 The follower of Basvanna called Lingayat.
	 2.	 They buried dead persons rather than 

cremation.
	 3.	 They believe in Brahmin caste system and 

rebirth and oppose the idol worship.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 3 only
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	12.	Hkwfe vfèkxzg.k vfèkfu;e] 2013 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 blesa ;g izkoèkku fd;k x;k fd futh&lkoZtfud 
Hkkxhnkjh okyh ifj;kstukvksa gsrq Hkwfe vfèkxzg.k 
ds fy;s izHkkfor {ks=k ds 70% HkwLokfe;ksa dh 
lgefr vfuok;Z gSA

	 2.	 ;g 1894 ds vkSifuosf'kd dkuwu dks cnydj 
fdlkuksa dks xfjekiw.kZ thou dk vfèkdkj iznku 
djus gsrq yk;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	13.	ukxfjdrk (la'kksèku) foèks;d] 2016 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl foèks;d dk izLrko ukxfjdrk vfèkfu;e 

1955 esa la'kksèku ds fy;s ikfjr fd;k x;k FkkA

	 2.	 bl foèks;d esa iM+kslh ns'kksa (ckaXykns'k] ikfdLrku] 
viQxkfuLrku) ls vk, fganw] fl[k] ckS¼] tSu] 
ikjlh rFkk bZlkbZ vYila[;dksa (eqfLye Hkh 
'kkfey gSa) dks ukxfjdrk iznku djus dh ckr 
dgh xbZ gS] pkgs ”k:jh nLrkos”k gksa ;k ughaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	14.	xokg lqj{kk dk;ZØe] 2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bl ;kstuk dk mn~ns'; xokgksa dks Mjkdj ;k 

èkedkdj vkijkfèkd ekeyksa dh tk¡p] vfHk;kstu 
vkSj eqdnes dks izHkkfor djuk gSA

	 2.	 ;g ;kstuk tEew&d'ehj jkT; dks NksM+dj iwjs 
Hkkjr esa foLrkfjr gksxhA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	15.	izèkkuea=kh mTToyk ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl ;kstuk dh 'kq#vkr 1 ebZ] 2016 dks mÙkj 

izns'k ds cfy;k f”kys ls gqbZ FkhA

	 2.	 bl ;kstuk esa u;k ,yihth dusD'ku miyCèk 
djkus gsrq ̀ 1600 dh udn lgk;rk dsanz ljdkj 
}kjk miyCèk djkbZ tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 12.	 With reference to the Land Acquisition Act, 2013, 
consider the following statements:

	 1.	 For Public-private partnership projects, it 
has been provided that the consent of 70 
percent of the land owners of the affected 
area because of the acquisition of land is 
compulsory.

	 2.	 It was brought to change the colonial laws 
of 1894 to provide rights to dignified lives 
to the farmers.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 13.	 With reference to the Citizenship (Amendment)
Bill, 2016, consider the following statements:

	 1.	 The proposal of this bill was passed to 
amend the Citizenship Act of 1955.

	 2.	 This bill has stated to provide citizenship 
status to Hindu, Sikh, Buddhist, Jain, 
Parsi and Christian minorities (including 
Muslims) from neighboring countries 
(Bangladesh, Pakistan, Afghanistan), 
whether necessary documents are available 
or not.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 14.	 Consider the following statements in the context 
of Witness Protection Scheme, 2018:

	 1.	 The objective of this scheme is to affect 
the investigation,  trial and prosecution of 
criminal offences by forcing and threatening 
the witnesses.

	 2.	 This scheme will extend all over India 
except state of Jammu & Kashmir.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 15.	 With reference to the Pradhan Mantri Ujjwala 
Yojana, consider the following statements:

	 1.	 This scheme was launched on May 1, 2016 
from Balia district of Uttar Pradesh.

	 2.	 Under this scheme, the Central government 
provides cash aid of ` 1600 to avail new 
LPG connections.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	16.	Hkkjrh; izfrHkwfr ,oa fofue; cksMZ (lsch) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk lsch vfèkfu;e] 1992 ds izkoèkkuksa 
ds vuqlkj 12 vizSy] 1992 dks gqbZ FkhA

	 2.	 bldk eq[;ky; dksydkrk esa gSA

	 3.	 lsch] izfrHkwfr;ksa esa fuos'k djus okys fuos'kdksa 
ds fgrksa dk laj{k.k djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	17.	Ñf"k fu;kZr uhfr] 2018 ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl uhfr dk mn~ns'; o"kZ 2022 rd Ñf"k fu;kZr 

dks 30 vjc MkWyj ls c<+kdj 60 vjc vesfjdh 
MkWyj djuk ,oa vxys dqN o"kks± esa bls 100 
vjc vesfjdh MkWyj rd igq¡pkuk gSA

	 2.	 bl uhfr ds rgr tSfod mRiknksa ij lHkh izdkj 
ds fu;kZr izfrcaèkksa dks Hkh gVkus dh dksf'k'k dh 
tk,xhA 

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	18.	jkb”k (vkj-vkbZ-,l-bZ-) 2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g jkb”k dk nwljk laLdj.k gSA bldk igyk 

laLdj.k o"kZ 2016 esa izdkf'kr gqvk FkkA

	 2.	 ;g fo'o cSad }kjk tkjh fd;k x;k gSA

	 3.	 blds vuqlkj ns'kksa dks muds izn'kZu ds vkèkkj 
ij rhu oxks±& xzhu ”kksu] ;syks ”kksu rFkk jsM ”kksu 
esa j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3
	19.	uo Hkkjr @75 gsrq dk;Zuhfr ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g uhfr vk;ksx }kjk tkjh dh xbZ gSA

	 2.	 bl dk;Zuhfr esa 2022-23 gsrq mn~ns';ksa dks 
ifjHkkf"kr fd;k x;k gSA

	 3.	 bl nLrkos”k esa 41 vè;k;ksa dks pkj [kaMksa& 
okgd] volajpuk] lekos'ku vkSj xous±l esa 
foHkkftr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 16.	 In the context of the Securities and Exchange Board 
of India (SEBI), consider the following statements:

	 1.	 This was established on April 12, 1992 
under the provisions of SEBI Act, 1992.

	 2.	 Its headquarters is located in Kolkata.
	 3.	 SEBI protects the interests of investors 

investing in securities.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 17.	 Consider the following statements in the context 
of Agriculture Export Policy, 2018:

	 1.	 The objective of the policy is to increase 
agricultural exports from $ 30 billion to US 
$ 60 billion by 2022 and to reach US $ 100 
billion in the next few years.

	 2.	 Under this policy, efforts will be made to 
remove all types of export restrictions also 
on biological products.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 18.	 With reference to RISE 2018, consider the 
following statements:

	 1.	 This is the second edition of the RISE. Its 
first edition was published in the year 2016.

	 2.	 It is released by World Bank.
	 3.	 According to this, the countries have been 

placed in three categories- Green Zone, 
Yellow Zone and Red Zone on the basis of 
their performance.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 19.	 With reference to the Strategy for New India @75, 
consider the following statements:

	 1.	 It has been released by NITI Aayog.
	 2.	 This strategy defines the objectives for 

2022-23.
	 3.	 In this document, 41 chapters have been 

divided into four sections - Drivers, 
Infrastructure, Inclusion and Governance.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 3 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	20.	lfClMh ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s% 

	 1.	 ;g ,d izdkj dh foÙkh; enn gS tks ljdkj 
}kjk fdlkuksa] m|ksxksa] miHkksDrkvksa dks miyCèk 
djkbZ tkrh gSA

	 2.	 ;g vkerkSj ij vkfFkZd vkSj lkekftd {ks=kksa dks 
ykHk igq¡pkus rFkk mUgsa c<+kok nsus ds mn~ns'; ls 
nh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	21.	feuhjRu Js.kh&1 ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%   
	 1.	 bl Js.kh dk ntkZ izkIr djus ds fy;s vko';d 

gS fd daiuh us fiNys rhu o"kks± ls yxkrkj ykHk 
izkIr fd;k gksA

	 2.	 rhu lky esa ,d ckj de&ls&de `30 djksM+ 
dk 'kq¼ ykHk vftZr fd;k gksA

	 3.	 jk"Vªh; ifj;kstuk fuekZ.k fuxe fyfeVsM (,u-ih-
lh-lh-,y-) dks Hkkjr ljdkj }kjk bl Js.kh dk 
ntkZ fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 2
	22.	lrr~ uhyh vFkZO;oLFkk lEesyu ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bl lEesyu dk vk;kstu dsU;k dh jktèkkuh 

uSjksch esa fd;k x;kA
	 2.	 bldk vk;kstu dsU;k us dukMk rFkk tkiku ds 

lg;ksx ls fd;k gSA
	 3.	 bl lEesyu dh Fkhe Fkh & ^uhyh vFkZO;oLFkk 

vkSj lrr~ fodkl ds fy;s 2030 ,tsaMk*A
	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	23.	jkT;ksa dh LVkVZ&vi jSafoaQx 2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bl jSafoaQx dk mn~ns'; ns'k eas mHkjrs m|fe;ksa dks 

izksRlkgu nsuk gSA
	 2.	 bl ;kstuk ds rgr dj vkSj iwathxr ykHk dj 

esa NwV nh tk jgh gSA
	 3.	 bl jSafoaQx esa 'kkunkj izn'kZu djus okyk jkT; 

dsjy gSA
	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 20.	 Consider the following statements in the context 
of Subsidy:

	 1.	 It is a kind of financial assistance which 
is provided to the farmers, industries, 
consumers by the government.

	 2.	 It is usually given for the purpose of 
benefiting and promoting the economic and 
social sectors.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 21.	 Consider the following statements in the context 
of Miniratna category-I:

	 1.	 To achieve the status of this category, it 
is necessary that the company has earned 
profits for the continuous last three years.

	 2.	 At least once in three years, the net profit of 
30 crore rupees has been earned.

	 3.	 National Projects Construction Corporation 
Limited (NPCCL) has been granted the 
status of this category by the Government 
of India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only	 (d)	 1 and 2 only

	 22.	 With reference to the Sustainable Blue Economy 
Conference, consider the following statements:

	 1.	 This conference was held in Kenya's capital 
Nairobi.

	 2.	 This is organised by Kenya in collaboration 
with Canada and Japan.

	 3.	 The theme of the conference was : ‘the 
blue economy and the 2030 Agenda for 
Sustainable Development’.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 3 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 23.	 Consider the following statements in the context 
of States' Startup Ranking 2018:

	 1.	 The purpose of this ranking is to encourage 
the emerging entrepreneurs in the country.

	 2.	 Under this scheme, tax and capital gains tax 
is being exempted.

	 3.	 Kerala is the best performer state in the 
ranking.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	24.	uohdj.kh; {kerk gsrq y{; ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ljdkj us o"kZ 2022 ds var rd 175 
xhxkokV uohdj.kh; {kerk dk y{; j[kk gSA

	 2.	 blesa 2022 rd iou ÅtkZ ls 60 xhxkokV] lkSj 
ÅtkZ ls 100 xhxkokV ÅtkZ mRiknu dk y{; 
'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	25.	th&20 dk 13ok¡ f'k[kj lEesyu ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g lEesyu vts±Vhuk ds C;wul vk;lZ esa vk;ksftr 

fd;k x;kA

	 2.	 bldh vè;{krk vts±Vhuk ds jk"Vªifr eSfjfl;ks 
eSØh }kjk dh xbZ FkhA

	 3.	 th&20 dh 'kq#vkr 2000 esa foÙk eaf=k;ksa vkSj 
dsanzh; cSad ds xouZjksa dh cSBd esa gqbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	26.	foÙkh; dkjZOkkbZ dk;Zcy (,iQ,Vh,iQ) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g 1989 esa LFkkfir ,d varj&ljdkjh fudk; 

gSA

	 2.	 Hkkjr 2010 esa 35osa  iw.kZ lnL; ds :i esa blesa 
'kkfey gqvkA

	 3.	 orZeku esa nks {ks=kh; laxBuksa (;wjksih; deh'ku 
vkSj xYiQ dks&vkWijs'ku dkmafly) lfgr blesa 
dqy 37 lnL; gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3  	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	27.	vksisd ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh LFkkiuk 1960 esa lÅnh vjc] bjkd] bZjku] 

dqoSr vkSj osus”kq,yk }kjk dh xbZ FkhA

	 2.	 drj us bldh lnL;rk R;kxus dh ?kks"k.kk dh 
gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	28.	^;syks osLV izksVsLV* vkanksyu dgk¡ pyk;k tk jgk gS\

	 (a)	 tkiku 	 (b)	 vesfjdk

	 (c)	 Úk¡l	 (d)	 bVyh

	 24.	 Consider the following statements in the context 
of Renewable Energy capacity target:

	 1.	 Government of India has set a target of 
renewable energy capacity of 175 gigawatts 
by the end of year 2022.

	 2.	 It includes target of generating 60 gigawatts 
from wind power and 100 gigawatts from 
solar power by 2022.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 25.	 Consider the following statements in the context 
of  13th G-20 Summit:

	 1.	 This conference was held in Buenos Aires, 
Argentina.

	 2.	 This summit was led by Marcos Macri, 
President of Argentina.

	 3.	 The G-20 was started in 2000 in the meeting 
of the finance ministers and governors of 
central banks.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 26.	 With reference to the Financial Action Task Force 
(FATF), consider the following statements:

	 1.	 It is an intergovernmental body established 
in 1989.

	 2.	 India joined it in 2010 as the 35th full 
member.

	 3.	 At present, there are 37 members of it, 
including two regional organizations 
(European Commission and Gulf Co-
operation Council).

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1  and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 27.	 Consider the following statements in the context 
of OPEC:

	 1.	 It was founded in 1960 by Saudi Arabia, 
Iraq, Iran, Kuwait and Venezuela.

	 2.	 Qatar has announced to withdraw of its 
membership.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 28.	 Where is Yellow-vest Protest Movement being 
organised?

	 (a)	 Japan	 (b)	 America
	 (c)	 France	 (d)	 Italy
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	 29.	pkcgkj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g bZjku ds v¼Z&jsfxLrkuh edjku rV ij fLFkr 

gS] tks viQxkfuLrku tkus ds fy;s lcls NksVk 

leqnzh ekxZ gSA

	 2.	 ;g bZjku esa flLrku vkSj cywfpLrku izkar dk 

,d 'kgj gSA

	 3.	 ;g ,d eqDr canjxkg gS vkSj vkseku dh [kkM+h 

ds fdukjs fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3

	30.	bUosLV bafM;k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 fons'kksa ds lkFk O;kolkf;d rFkk dkjksckjh lacaèkksa 

dks c<+kok nsus gsrq ;g Hkkjr dh jk"Vªh; fuos'k 

lao¼Zu vkSj lqfoèkk ,tsalh gSA

	 2.	 gky gh esa bldks lrr~ fodkl esa fuos'k dks 

izksRlkgu nsus gsrq la;qDr jk"Vª dk fof'k"Vrk 

iqjLdkj Hkh feyk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	31.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 djrkjiqj lkfgc xq#}kjk ikfdLrku esa >sye unh 

ds fdukjs cuk gSA

	 2.	 ekynho esa ekynhfo;u MseksØsfVd ikVhZ ds 

mEehnokj bczkfge eksgEen lksysg us iwoZ jk"Vªifr 

vCnqYyk  ;kehu dks gjkdj thr gkfly dh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 32.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lquhy vjksM+k dks ns'k ds 23osa eq[; fuokZpu 

vk;qDr ds in ij fu;qDr fd;k x;k gSA

	 2.	 Ñ".kewfrZ lqcze.;e dks ns'k dk vxyk eq[; 

vkfFkZd lykgdkj fu;qDr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 29.	 Consider the following statements in the context 
of Chabahar:

	 1.	 It is located on the semi-desert Makran 
coast of Iran, which is the shortest sea route 
to connect Afghanistan.

	 2.	 It is a city of Sistan and Baluchestan 
province in Iran.

	 3.	 It is an open harbor and is located on the 
shores of the Gulf of Oman.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 30.	 Consider the following statements in the context 
of Invest India:

	 1.	 It is India's National Investment Promotion 
and Facilitation Agency to promote business 
and trade relations with foreign countries.

	 2.	 Recently it has also received the UN Award 
for excellence in promoting investments in 
sustainable development.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 31.	 Consider the following statements:
	 1.	 Kartarpur Sahib Gurudwara is situated on 

the banks of Jhelum river in Pakistan.
	 2.	 Maldivian Democratic Party candidate 

Ibrahim Mohammad Solih has won by 
defeating former President Abdullah Yaman 
in Maldives.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 32.	 Consider the following statements:
	 1.	 Sunil Arora has been appointed as the 

23rd Chief Election Commissioner of the 
country.

	 2.	 Krishnamurthy Subramanian has been 
appointed as the next Chief Economic 
Advisor of the country.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 33.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vesfjdk ds 41osa jk"Vªifr tkWtZ gcZVZ okWdj cq'k 

FksA

	 2.	 dsjy ns'k dk nwljk jkT; cu x;k gS tgk¡ pkj 
varjkZ"Vªh; gokbZ vM~Ms gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 34.	ekdZjehj ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g ,d >hy gS tks ;wjksi dh rk”ks ikuh dh 

lcls cM+h >hyksa esa ls ,d gSA

	 2.	 bl >hy esa ekdZj oSMu uke dk Ñf=ke }hi 
fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 35.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 xksok esa 49osa Hkkjrh; varjkZ"Vªh; fiQYe egksRlo 

dk vk;kstu fd;k x;kA

	 2.	 fel oYMZ 2018 dk f[krkc  esfDldks dh ouhlk 
iksal us thrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	36.	KkuihB iqjLdkj 2018 ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 vferko ?kks"k dks bl iqjLdkj ls lEekfur fd;k 

x;k gSA

	 2.	 ;g Hkkjrh; KkuihB }kjk fn;k tkus okyk 54ok¡ 
KkuihB iqjLdkj gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 37.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fiQYe ^Mksuckl* us 49osa Hkkjrh; varjkZ"Vªh; 

fiQYe egksRlo dk izfrf"Br Lo.kZ e;wj iqjLdkj 
thrk gSA

	 2.	 miU;kl ^n 'kSMks ykbal* ds fy;s vferko ?kks"k 
dks lkfgR; vdkneh iqjLdkj ls lEekfur fd;k 
tk pqdk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 33.	 Consider the following statements:
	 1.	 George Herbert Walker Bush was the 41st 

president of the United States.
	 2.	 Kerala became the second state to have four 

international airports.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 34.	 Consider the following statements in the context 
of Markermeer:

	 1.	 It is a lake which is one of the largest 
freshwater lakes in Europe.

	 2.	 An artificial archipelago named Marker 
Wadden is located in this lake.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 35.	 Consider the following statements:
	 1.	 49th Indian International Film Festival was 

organized in Goa.
	 2.	 Vanessa Ponce of Mexico has won the 

crown of Miss World 2018.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 36.	 Consider the following statements in the context 
of Jnanpith Award 2018:

	 1.	 Amitav Ghosh has been honored with this 
award.

	 2.	 This is the 54th Jnanpith award given by 
Bharatiya Jnanpith.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 37.	 Consider the following statements:
	 1.	 The movie 'Donbass' has won the coveted 

Golden Peacock Award at the 49th 
International Film Festival of India (IFFI).

	 2.	 Amitav Ghosh has been awarded the 
Sahitya Akademi Award for novel 'The 
Shadow Lines'.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 38.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vuqPNsn 19(1)(a) Hkkjr esa izsl dh vfHkO;fDr 

dk eq[; vk/kj gSA

	 2.	 ^,MoMZ ,l- geZu ,oa ukse pksELdh* us 

^eSU;qiQSDpfjax dUlsaV% n ikWfyfVdy bdkWueh 

vkWiQ n ekl ehfM;k* dh jpuk dhA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 39.	Ñf"k ewY; lfefr (,ihlh) ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 U;wure leFkZu ewY; ds fuèkkZj.k izfØ;k gsrq 1965 

esa bl lfefr dh LFkkiuk dh xbZ FkhA

	 2.	 bl lfefr dks ckn esa Ñf"k ykxr ,oa ewY; 

vk;ksx (lh,lhih)esa :ikarfjr dj fn;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 40.	3Mh fizafVax ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bl rduhd dks ,fMfVo eSU;qiQSDpfjax ds uke 

ls Hkh tkuk tkrk gSA

	 2.	 1984 esa pkYlZ MCY;w- gy }kjk igys 3Mh fizaVj 

dk fodkl fd;k x;kA

	 3.	 bl rduhd dks LVhfj;ksfyFkksxzkiQh midj.k ds 

uke ls Hkh tkuk tkrk FkkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3

	 41.	jk"Vªh; ofj"B ukxfjd ifj"kn ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bl ifj"kn esa 30 lnL; gksrs gSa] ftUgsa fofHkUu 

dsanzh; ea=kky;ksa o foHkkxksa ls pquk tkrk gSA

	 2.	 bl ifj"kn dh cSBd o"kZ esa 4 ckj vk;ksftr dh 

tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 38.	 Consider the following statements:
	 1.	 The expression of the press in India is 

mainly based on Article 19 (1) (a).
	 2.	 Edward S. Herman and Noam Chomsky 

has written ‘Manufacturing Consent: The 
Political Economy of the Mass Media’.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 39.	 With reference to the Agricultural Prices 
Commission (APC), consider the following 
statements:

	 1.	 This commission was established in 1965 
for the assessment procedure of minimum 
support price.

	 2.	 This commission was later converted into 
Commission for Agricultural Costs & Prices 
(CACP).

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 40.	 Consider the following statements in the context 
of 3D Printing:

	 1.	 This technology is also known as Additive 
Manufacturing.

	 2.	 The first 3D printer was developed by 
Charles W. Hull in 1984.

	 3.	 This technology was also known as 
stereolithography equipment.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 41.	 With reference to the National Council of Senior 
Citizens, consider the following statements:

	 1.	 This council has 30 members, who are 
elected from various Union Ministries and 
Departments.

	 2.	 The meeting of this council is held four 
times in a year.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 42.	;wusLdks ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldk iwjk uke la;qDr jk"Vª 'kS{kf.kd] oSKkfud 

,oa lkaLÑfrd laxBu gS tks la;qDr jk"Vª la?k dk 
,d vuq"kaxh fudk; gSA

	 2.	 blus vewY; oSf'od lkaLÑfrd /jksgjksa ds laj{k.k 
ds fy;s ^fo'o fojklr dk;ZØe* dh 'kq#vkr 
dh gSA

	 3.	 orZeku esa blesa 195 ns'k iw.kZdkfyd lnL; ds 
:i esa gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 43.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 dsanzh; ekè;fed f'k{kk cksMZ ,d Lo&foÙkiksf"kr 

Lok;Ùk laxBu gS ftldh LFkkiuk 1929 esa gqbZ 
FkhA

	 2.	 jk"Vªh; eqDr f'k{kk laLFkku dk eq[;ky; uks,Mk 
esa fLFkr gS vkSj ;g ekuo lalk/u fodkl ea=kky; 
ds varxZr dk;Z djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 44.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 leqnzh tgk”k dh xfr ekius dh bdkbZ dks eSd 

dgk tkrk gSA

	 2.	 izdk'k o"kZ [kxksyh; nwjh ekius dh bdkbZ gS]
tcfd ikjlsd dk iz;ksx [kxksyh; nwfj;ksa dks 
O;Dr djus ds fy;s fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksukas	 (d)	 u rks 1 vkSj u gh 2
	 45.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vko¼Zu oLrq ds izfrfcac dh Å¡pkbZ rFkk oLrq 

dh Å¡pkbZ dk vuqikr gksrk gSA

	 2.	 fudV n`f"V nks"k ds bykt ds fy;s mÙky ysal 
dk iz;ksx fd;k tkrk gSA

	 3.	 nwj n`f"V nks"k ds bykt ds fy;s vory ysal dk 
iz;ksx fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3

	 (d)	 1, 2 vkSj 3

	 42.	 Consider the following statements in the context 
of UNESCO:

	 1.	 It stands for United Nations Organization 
for Education, Science and Culture, which 
is a subsidiary body of the United Nations.

	 2.	 It has launched the 'World Heritage 
Program' to protect the precious global 
cultural heritage.

	 3.	 At present, there are 195 countries as full 
time members.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 43.	  Consider the following statements:
	 1.	 Central Board of Secondary Education is 

a self-financed autonomous organization 
which was established in 1929.

	 2.	 The headquarters of the National Institute 
of Open Schooling is located in Noida and it 
works under the aegis of Ministry of Human 
Resource Development.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 44.	  Consider the following statements:
	 1.	 The unit of measuring the speed of the ship 

is called the Mach.
	 2.	 Light Year is the unit of measuring 

astronomical distance, while Parsec is used 
to express astronomical distances.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 45.	  Consider the following statements:
	 1.	 Magnification is the ratio of the height of 

image of object and object height.
	 2.	 Convex lens is used to treat nearsightedness.
	 3.	 Concave lens is used to treat farsightedness.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 3 only
	 (d)	 1, 2 and 3
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	 46.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lksfM;e ukbVªsV dks fpyh lkYVihVj dgk tkrk gSA

	 2.	 dsYxu dk mi;ksx ty dh dBksjrk nwj djus ds 
fy;s fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 47.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gkbMªkthu dk mi;ksx jkWdsV esa b±/u ds :i esa 
gksrk gSA

	 2.	 VkWyqbZu dk iz;ksx dhVksa ls lqj{kk ds :i esa 
gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 48.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ek¡lisf'k;ksa esa ySfDVd vEy ds ,d=k.k ls FkdkoV  
eglwl gksus yxrh gSA

	 2.	 dhVksu dk iz;ksx uk[kwuksa ij yxh usy ikWfy'k 
gVkus ds :i esa fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 49.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gheksXyksfcu ds vi?kVu ls ;wjksØkse o.kZd dk 
fuekZ.k gksrk gSA

	 2.	 Xywdksek jksx ls ihfM+r O;fDr viuh n`f"V {kerk 
[kks nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 50.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dkyZ ySaMLVhuj us ekuo #f/j dks pkj Jsf.k;ksa 
esa ck¡VkA

	 2.	 IysVysV~l lw{e] jaxghu ,oa xksykdkj gksrh gSaA 
buesa dsanzd Hkh fo|eku gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1 vkSj u gh 2

	 46.	 Consider the following statements:
	 1.	 Sodium nitrate is known as Chile saltpeter.
	 2.	 Calgon is used for softening hard water.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 47.	 Consider the following statements:
	 1.	 Hydrazine is used as fuel in the rocket.
	 2.	 Toluene is used as a protection against 

insects.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 48.	 Consider the following statements:
	 1.	 The accumulation of Lactic acid in the 

muscles leads to lethargy.
	 2.	 Ketone is used as the nail polish remover on 

nails.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 49.	 Consider the following statements:
	 1.	 Lysis (breaking down) of hemoglobin 

produces urochrome pigment.
	 2.	 A person suffering from glaucoma disease 

loses his vision.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 50.	 Consider the following statements:
	 1.	 Karl Landsteiner classified human blood 

into four categories.
	 2.	 Platelets are microscopic, colorless and 

spherical. The nucleus also exists in it.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 51.	^baVhfj;j ,DlIyksjs'ku ;wf”kax flfLed bUosfLVxs'kal 
ft;ksMslh ,aM ghV VªkaliksVZ (bulkbV)* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vesfjdk }kjk ykWUp fd;k x;k ;g 21ok¡ eaxy 
fe'ku gSA

	 2.	 ;g vxys 10 o"kks± rd eaxy xzg dh lrg dk 
vè;;u djsxkA

	 3.	 blesa eaxy xzg ij HkwoaQi dh tk¡p gsrq vfr 
laosnu'khy flLeksehVj yxk;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	52.	^gkbijLisDVªy besftax lSVsykbV & HySIS* ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldk izkFkfed mn~ns'; bysDVªkseSXusfVd LisDVªe 

ds n`';eku fudV vojDr vkSj 'kkWVZoso bUizQkjsM 
{ks=kksa esa i`Foh dh lrg dk vè;;u djuk gSA

	 2.	 ;g ”kehu ls 630 fdeh- dh nwjh ij Hkh 55 
o.kZØe ;k dyj cSaM esa foHksn dj ldrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	53.	thlSV&11 ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 laiw.kZ Hkkjr esa mPp MkVk dusfDVfoVh iznku djus 

ds mn~ns'; ls bls ;wjksih; varfj{k ,tsalh ds 
jkWdsV ,fj;u&5 ls ykWUp fd;k x;kA

	 2.	 ;g bljks }kjk fu£er igyk 6 Vu Hkkj Js.kh dk 
mixzg gSA

	 3.	 ;g bljks ds mPp izokg {kerk okys lapkj mixzg 
lewg dk fgLlk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	54.	thlSV&7A ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g bljks }kjk fu£er 35ok¡ Hkkjrh; lapkj mixzg  gSA
	 2.	 ;g Lons'kh Øk;kstsfud batu okys th,l,yoh 

ds ”kfj;s ykWUp fd;k tkus okyk vc rd dk 
lcls Hkkjh lapkj mixzg gSA

	 3.	 ;g o"kZ 2018 esa lrh'k /ou varfj{k dsanz ls 
ykWUp fd;k tkus okyk bljks dk 10ok¡ fe'ku gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 51.	 With reference to the Interior exploration using 
Seismic Investigations, Geodesy and Heat Transport 
(InSight), consider the following statements:

	 1.	 It is the 21st Mars mission launched by 
America.

	 2.	 It will study the surface of Mars for the next 
10 years.

	 3.	 In it, a highly sensitive seismometer has been 
installed for earthquake testing on Mars.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 52.	 With reference to the “Hyperspectral Imaging 

Satellite-HySIS”, consider the following 
statements:

	 1.	 Its primary goal is to study earth's surface in 
visible near infrared and shortwave infrared 
regions of the electromagnetic spectrum.

	 2.	 It can also distinguish in 55 spectrum or 
color bands at the distance of 630 km from 
the surface.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 53.	 Consider the following statements in the context 

of GSAT-11:
	 1.	 It was launched by the European Space 

Agency's rocket Ariane-5 with the aim of 
providing high data connectivity across 
India.

	 2.	 It is the first 6 ton weight class satellite 
designed by ISRO.

	 3.	 It is part of ISRO's high throughput 
communication satellite group.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 54.	 Consider the following statements in the context 

of GSAT-7A:
	 1.	 It is the 35th Indian communication satellite 

built by ISRO.
	 2.	 It is the heaviest communication satellite 

ever launched through GSLV, indigenous 
cryogenic engine.

	 3.	 It is the 10th mission of ISRO launched 
from Satish Dhawan Space Center in the 
year 2018.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only 	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	55.	vfXu&5 felkby ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g lrg&ls&lrg ij yach nwjh rd ekj djus 

,oa ijek.kq gfFk;kj ys tkus esa l{ke felkby gSA

	 2.	 ;g ,d f}&Lrjh; felkby gSA

	 3.	 10 fnlacj] 2018 dks MkW- vCnqy dyke }hi ls 

eksckby ykWUpj ds ”kfj;s bldk 7ok¡ liQy iz{ksi.k 

fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	56.	{kqnz xzgksa ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;s eaxy vkSj c`gLifr dh d{kkvksa ds eè; lw;Z 

dh ifjØek djus okys NksVs&NksVs fiaM gksrs gSaA

	 2.	 vfu;fer vkdkj okys ;s {kqnz xzg lw;Z dh ifjØek 

nh?kZo`Ùkh; d{kk esa djrs gSaA

	 3.	 ;s xzg fuekZ.kdkjh rÙoksa ds vo'ks"k gSa ftuesa 

ty] dkcZfud rÙo] /krq,¡ vkfn izkÑfrd lalk/u 

fufgr gksrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	57.	fe'ku banz/uq"k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 26 flracj] 2016 dks dsanzh; LokLF; ea=kky; us 

bldh 'kq#vkr dh FkhA

	 2.	 bldk mn~ns'; o"kZ 2020 rd ,sls lHkh cPpksa 

dk Vhdkdj.k djuk gS] ftUgsa ^lkr chekfj;ksa* 

ls yM+us ds Vhds ugha yxk, x, gSa ;k vkaf'kd 

:i ls yxk, x, gSaA

	 3.	 gky esa bls ,d Lora=k fpfdRlk twjh }kjk 

LokLF; ns[kHkky ds Lrj dks c<+kus okyh 12 

loksZÙke oSf'od izFkkvksa esa ls ,d ds :i esa 

pquk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	

	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	

	 (d)	 1, 2 vkSj 3

	 55.	 Consider the following statements in the context 
of Agni-V missile:

	 1.	 It is a long range surface-to-surface missile 
with capacity to carry nuclear weapons.

	 2.	 It is a two-level missile.
	 3.	 On December 10, 2018, the 7th successful 

launch was done through the mobile 
launcher from Dr. Abdul Kalam Island.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 56.	 Consider the following statements in the context 
of Asteroids:

	 1.	 These are the small bodies that revolve 
around the Sun between the orbits of Mars 
and Jupiter.

	 2.	 These irregular shaped asteroids are 
revolving the Sun in the elliptical orbit.

	 3.	 These asteroids are the remnants of planetary 
elements containing natural resources such 
as water, organic matter, metals etc.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 57.	 With reference to the Mission Indradhanush, 
consider the following statements:

	 1.	 The union ministry of health has launched it 
on September 26, 2016.

	 2.	 Its aim is to immunize all such children 
by 2020, who have not been vaccinated or 
partially vaccinated to fight 'seven diseases'.

	 3.	 Recently, it has been selected as one of the 
twelve best global practices to enhance 
the level of healthcare by an independent 
medical jury.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	
	 (b)	 2 only

	 (c)	 2 and 3 only	
	 (d)	 1, 2 and 3
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	58.	gkVZ vVSd fjokbaM ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 Hkkjrh; [kk| laj{kk ,oa ekud izkf/dj.k us 

vkS|ksfxd :i ls mRiUu Vªkal iSQV ds nq"izHkkoksa 

ds ckjs esa yksxksa dks tkx:d djus ds fy;s bl 

ehfM;k vfHk;ku dh 'kq#vkr dh gSA

	 2.	 ;g viuh rjg dk igyk ehfM;k vfHk;ku gS 

tks 50 lsdsaM dh ,d lkoZtfud ?kks"k.kk gSA

	 3.	 bls ;wV~;wc] isQlcqd] gkWVLVkj vkSj owV tSls izeq[k 

fMftVy IysViQkWeZ ij 8 lIrkg dh vof/ ds 

fy;s 20 Hkk"kkvksa esa izlkfjr fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	59.	Hkkjrh; [kk| laj{kk ,oa ekud izkf/dj.k ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk [kk| laj{kk vkSj ekud vf/fu;e] 

2006 ds v/hu dh xbZ gSA

	 2.	 blds dk;kZUo;u ds fy;s LokLF; ,oa ifjokj 

dY;k.k ea=kky; iz'kklfud ea=kky; gSA

	 3.	 bldh LFkkiuk [kk| oLrqvksa ds fy;s foKku 

vkèkkfjr ekudksa dk fu/kZj.k djus vkSj ekuo 

miHkksx ds fy;s lqjf{kr ,oa ikSf"Vd vkgkj dh 

miyC/rk lqfuf'pr djus gsrq muds fofuekZ.k] 

HkaMkj.k] forj.k] fcØh rFkk vk;kr dks fofu;fer 

djus ds fy;s dh xbZ gSA 

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	60.	f'kU;q eS=kh&2018 ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 Hkkjr vkSj tkiku dh ok;qlsukvksa ds chp fd;k 

x;k ;g f}rh; vH;kl gSA

	 2.	 bldk vk;kstu gky esa mÙkj izns'k ds vkxjk esa 

fd;k x;kA

	 3.	 bldh Fkhe ifjogu ok;q;ku ij la;qDr 	

xfr'khyrk@ekuoh; lgk;rk vkSj vkink jkgr FkhA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 58.	 Consider the following statements in the context 
of  Heart Attack Rewind:

	 1.	 The Food Safety and Standards Authority 
of India (FSSAI) has launched this mass 
media campaign to aware people about the 
side effect of industrially-produced trans 
fat.

	 2.	 It is the first media campaign of its kind that 
is a public announcement of 50 seconds.

	 3.	 It will be broadcasted on major digital 
platforms like YouTube, Facebook, Hotstar 
and Voot in 20 languages for 8-week 
duration.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 59.	 With reference to Food Safety and Standards 
Authority of India (FSSAI), consider the following 
statements:

	 1.	 It has been established under Food Safety & 
Standards Act, 2006.

	 2.	 Ministry of Health and Family Welfare is 
the administrative ministry for its execution.

	 3.	 It has been created for laying down scientific 
standards for articles of food and to regulate 
their manufacture, storage, distribution, sale 
and import to ensure availability of safe and 
wholesome food for human consumption.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 60.	 Consider the following statements in the context 
of SHINYUU Maitri-2018:

	 1.	 This is the second exercise held between Air 
Force of India and Japan.

	 2.	 It was held recently in Agra, Uttar Pradesh.
	 3.	 It's theme was joint Mobility/Humanitarian 

Assistance & Disaster Relief on Transport 
aircraft.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	61.	vkHkklh tyok;q f'k[kj lEesyu ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 gky esa bldk vkWuykbu vk;kstu DykbesV 

oYujscy iQksje }kjk fd;k x;kA

	 2.	 DykbesV oYujscy iQksje ds vè;{k ds :i esa 

bldh vè;{krk ek'kZy }hi }kjk dh xbZA

	 3.	 bldk eq[; mn~ns'; varjkZ"Vªh; leqnk; dks oSf'od 

rkiu ds Lrj dks iwoZ&vkS|ksfxd Lrj ls 2.5 

fMxzh lsfYl;l Åij rd j[kus ds fy;s izksRlkfgr 

djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	62.	fo'o ekSle foKku laxBu ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 23 ekpZ] 1950 dks bldh LFkkiuk gqbZ FkhA

	 2.	 ;g ìFoh ds ok;qeaMy dh ifjfLFkfr vkSj O;ogkj] 

egklkxjksa ds lkFk blds laca/] ekSle vkSj 

ifj.kkeLo:i ty lalk/uksa ds forj.k ds ckjs 

esa tkudkjh nsus ds fy;s la;qDr jk"Vª dh 

vkf/dkfjd laLFkk gSA

	 3.	 bldk eq[;ky; isfjl esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	63.	xzhugkml xSl cqysfVu uked fjiksVZ ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 la;qDr jk"Vª esa ekSle foKku ls tqM+h laLFkk fo'o 

ekSle foKku laxBu }kjk bls tkjh fd;k x;k gSA

	 2.	 blds vuqlkj okrkoj.k esa xzhugkml xSlksa dh 

ek=kk esa vR;ar deh vkbZ gSA

	 3.	 ;g fjiksVZ 2016 ds vk¡dM+ksa ij vk/kfjr gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	

	 (d)	 1, 2 vkSj 3

	 61.	 Consider the following statements in the context 
of Virtual climate summit:

	 1.	 It was recently organized online by the 
Climate Vulnerable Forum (CVF).

	 2.	 It was presided by Marshall Islands as Chair 
of the Climate Vulnerable Forum.

	 3.	 It's main purpose is to encourage the 
international community to keep global 
warming levels upto 2.5 degrees Celsius 
above the pre-industrial level.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 62.	 Consider the following statements in the context 
of World Meteorological Organization:

	 1.	 It was established on March 23, 1950.
	 2.	 It is the official body of the United Nations 

to provide information on the state and 
behavior of the Earth's atmosphere, its 
interaction with the oceans, the weather and 
resulting the distribution of water resources.

	 3.	 Its headquarters is located in Paris.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 63.	 With reference to the report named Greenhouse 
Gas Bulletin, consider the following statements:

	 1.	 It has been released by the World 
Meteorological Organization, an 
organization associated with meteorology 
of the United Nations.

	 2.	 According to this report, the amount of 
greenhouse gases in the environment has 
decreased considerably.

	 3.	 This report is based on the statistics of 2016.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	
	 (d)	 1, 2 and 3
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	64.	ck;ks&IykfLVd ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ck;ksfMxzsMscy vkSj daiksLVscy IykfLVd 

lkexzh gSA

	 2.	 bls eDdk vkSj xUuk ds ikS/ksa ls lqxj fudkydj 

rFkk mls ikWfyySfDVd ,flM esa ifjo£rr djds 

izkIr fd;k tk ldrk gSA

	 3.	 bls lw{e thoksa ls vfHk;af=kr ikWyhgkbMªksDlh,Ydsuks,V~l 

ls ugha cuk;k tk ldrkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	65.	tyok;q tksf[ke lwpdkad&2019 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bls Lora=k laxBu teZuokWp }kjk tkjh fd;k x;k gSA

	 2.	 ;g lwpdkad ekSr vkSj vk£Fkd uqdlku ds ekeys 

esa pje ekSleh ?kVukvksa ds ek=kkRed izHkko dk 

fo'ys"k.k djrk gSA

	 3.	 blesa fiNys 20 o"kks± esa pje ekSleh ?kVukvksa ls 

izHkkfor ns'kksa dh lwph esa Hkkjr dks 20osa LFkku 

ij j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3

	 (d)	 1, 2 vkSj 3
	66.	^,VekWLisQ;j ,aM DykbesV fjlpZ&ekWMfyax vkWC”k£oax 

flLVEl ,aM lfoZlst (,ØkWl)* ;kstuk ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g 9 mi&dk;ZØeksa ls feydj cuh gS tks 

cgq&fo"k;d vkSj cgq&LFkkuh; Lo:i ds gaSA

	 2.	 bldk mn~ns'; lekt dh csgrjh ds fy;s ,d 

fo'oluh; ekSle vkSj tyok;q iwokZuqeku iznku 

djuk gSA

	 3.	 ;g i`Foh foKku ea=kky; ls lacaf/r gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3

	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3

	 (d)	 1, 2 vkSj 3

	 64.	 Consider the following statements in the context 
of Bio-plastics:

	 1.	 These are biodegradable and compostable 
plastic material.

	 2.	 It can be obtained by extracting sugar from 
corn and sugarcane plants and converting it 
into poly lactic acid.

	 3.	 It cannot be produced by polyhydroxyalkanoates 
engineered with microorganisms.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 65.	 Consider the following statements in the context 
of Climate Risk Index-2019:

	 1.	 It has been released by the independent 
organization Germanwatch.

	 2.	 This index analyzes the quantitative effect 
of extreme seasonal events in case of death 
and economic loss.

	 3.	 India has been ranked at 20th in the list 
of countries affected by extreme seasonal 
incidents in the last 20 years.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3

	 66.	 With reference to the "Atmosphere & Climate 
Research-Modelling Observing Systems & 
Services (ACROSS)" scheme, consider the 
following statements:

	 1.	 It consists of nine sub-programmes which 
are multi disciplinary and multi institutional 
in nature.

	 2.	 Its objective is to provide a reliable weather 
and climate forecasts for the betterment of 
the society.

	 3.	 It is related to the Ministry of Earth Sciences.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only
	 (b)	 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	67.	i`Foh foKku ea=kky; ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bldh LFkkiuk 12 twu] 2010 dks dh xbZ FkhA

	 2.	 Hkkjr ekSle foKku foHkkx] Hkkjrh; m".kdfVca/h; 

ekSle foKku laLFkku rFkk jk"Vªh; eè;e vof/ 

ekSle iwokZuqeku dsanz blds iz'kklfud fu;a=k.k esa 

vkrs gSaA

	 3.	 blds ikl ekSle] tyok;q vkSj izkÑfrd [krjs 

ls lacaf/r ?kVukvksa dk iwokZuqeku yxkus dh {kerk 

dk fodkl ,oa blesa lq/kj ykus gsrq vuqla/ku 

vkSj fodklijd xfrfof/;ksa dks laiUu djus dk 

vf/dkj gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	68.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ds vksfM'kk esa vksVksZyu cafVax fpfM+;k dh 

gky esa yh xbZ iQksVks laHkor% Hkkjr esa bldk 

igyk iQksVksxzkiQ fjdkWMZ gSA

	 2.	 vksVksZyu cafVax ,d xkus okyh NksVh fpfM+;k gS 

tks cafVax ifjokj ls lacaf/r gSA

	 3.	 vkbZ;wlh,u us ladVkiUu iztkfr;ksa dh viuh yky 

lwph esa vksVksZyu cafVax dks ^lcls de [krjs 

okyh iztkfr* ds :i esa oxhZÑr fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	69.	Hkhrjdfudk jk"Vªh; m|ku ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g vka/z izns'k ds egÙoiw.kZ tSo&fofo/rk 

gkWVLikWV esa ls ,d gSA

	 2.	 ;g czkã.kh] oSrj.kh] /kejk vkSj egkunh ds eqgkus 

ij fLFkr gSA

	 3.	 ;g ns'k ds 90 iQhlnh ,Lpqjkbu ;k [kkjs ikuh 

ds exjePNksa dk vkokl gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 3

	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3

	 (d)	 1, 2 vkSj 3

	 67.	 With reference to the Ministry of Earth Sciences, 
consider the following statements:

	 1.	 It was established on June 12, 2010.
	 2.	 India Meteorological Department, Indian 

Institute of Tropical Meteorology and 
National Mid-Term Weather Forecasting 
Center come under its administrative 
control.

	 3.	 It has the right to undertake research and 
development activities to develop and 
improve the ability to forcasts the events 
related to weather, climate and natural 
hazards.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 3 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 68.	 Consider the following statements:
	 1.	 Photograph of Ortolan Bunting bird taken 

recently in Odisha, India, probably is its 
first photograph record in India.

	 2.	 Ortolan Bunting is a small singing bird 
belongs to the Bunting family.

	 3.	 IUCN has classified Ortolan Bunting as 'the 
least- concern species' in its red list of the 
threatened species.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 69.	 Consider the following statements in the context 
of Bhitarkanika National Park:

	 1.	 It is one of the important biodiversity 
hotspot in Andhra Pradesh.

	 2.	 It is situated on the mouth of Brahmani, 
Vaitarani, Dhamra and Mahanadi.

	 3.	 It is habitat to 90% of the country's estuarine 
or saltwater crocodile.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 3 only
	 (b)	 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	70.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 jk"Vªh; ifjos'kh ok;q xq.koÙkk ekud dks ok;q 

(iznw"k.k fuokj.k ,oa fu;a=k.k) vf/fu;e] 1981 

ds rgr dsanzh; iznw"k.k cksMZ }kjk 10 uoacj] 2016 

dks vf/lwfpr fd;k x;k FkkA

	 2.	 blesa dqy 20 iznw"kdksa dks 'kkfey fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	71.	dsanzh; ty lalk/u] unh fodkl ,oa xaxk laj{k.k ea=kky; 

dh jk"Vªh; tyfo|qr ifj;kstuk ds rÙoko/ku esa gky 

esa lrr~ ty izca/u fo"k; ij izFke varjkZ"Vªh; lEesyu 

dk vk;kstu fuEufyf[kr esa ls dgk¡ fd;k x;k\

	 (a)	 gfj}kj (mÙkjk[kaM)	 (b)	 eksgkyh (iatkc)

	 (c)	 iVuk (fcgkj)	 (d)	 okjk.klh (mÙkj izns'k)

	72.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ljdkj }kjk o"kZ 1975 esa jk"Vªh; i'kq ck?k 

dks lajf{kr djus ds fy;s ^izkstsDV Vkbxj* ykWUp 

fd;k x;k FkkA

	 2.	 ^izkstsDV Vkbxj* i;kZoj.k] ou ,oa tyok;q ifjorZu 
ea=kky; dh ,d lrr~ dsanz izk;ksftr ;kstuk gS] 

tks ukfer ck?k jkT;ksa esa ck?k laj{k.k ds fy;s 

dsanzh; lgk;rk iznku djrh gSA

	 3.	 orZeku esa ̂ izkstsDV Vkbxj* ds rgr lajf{kr Vkbxj 

fj”koZ dh la[;k 100 gks xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	73.	oU;tho vijk/ fu;a=k.k C;wjks ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 gky esa bls la;qDr jk"Vª i;kZoj.k dk;ZØe }kjk 

lhek ikj ls gksus okys i;kZoj.k laca/h vijk/ksa 

ls fuiVus gsrq ,f'k;k i;kZoj.k izorZu iqjLdkj 

2018 ls lEekfur fd;k x;k gSA

	 2.	 blus ,d vkWuykbu oU;tho vijk/ MkVkcsl 

izca/ iz.kkyh fodflr dh gS] rkfd Hkkjr esa oU; 

tho vijk/ksa dks jksdus vkSj mudk irk yxkus 

ds fy;s izHkkoh mik; fd;s tk ldsaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 70.	 Which of the following statement(s) is/are 
correct?

	 1.	 National Ambient Air Quality Standard 
(NAAQS) was notified by the Central 
Pollution Control Board on 10 November 
2016 under the Air (Prevention and Control 
of Pollution) Act 1981.

	 2.	 It includes total 20 pollutants.
	 Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 71.	 Recently, in which of the following cities first 
International Conference on Sustainable Water 
Management is held under National Hydrology 
Project, of Union Ministry of Water Resources, 
River Development and Ganga Rejuvenation?

	 (a)	 Haridwar (Uttarakhand)	
	 (b)	 Mohali (Punjab)	
	 (c)	 Patna (Bihar)
	 (d)	 Varanasi (Uttar Pradesh)

	 72.	 Consider the following statements:
	 1.	 The 'Project Tiger' was launched in the year 

1975 by the Government of India to protect 
the National Animal Tiger.

	 2.	 ‘Project Tiger’ is an ongoing Centrally 
Sponsored Scheme of the Ministry of 
Environment, Forests and climate change, 
providing central assistance to the tiger 
States for tiger conservation.

	 3.	 At present, the number of protected Tiger 
Reserve under 'Project Tiger' has increased 
to 100.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 73.	 Consider the following statements in the context 
of Wildlife Crime Control Bureau:

	 1.	 Recently, it has been awarded with the Asia 
Environment Enforcement Award 2018 to 
combat the transboundary environmental 
crimes by the United Nations Environment 
Program.

	 2.	 It has developed an online Wildlife Crime 
Database Management System for effective 
measures to prevent and detect wildlife 
crimes across India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2



21lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	74.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 oSf'od ySafxd varjky fjiksVZ fo'o vk£Fkd eap 
}kjk tkjh dh tkrh gSA

	 2.	 oSf'od ySafxd varjky lwpdkad vk£Fkd Hkkxhnkjh 
vkSj volj] 'kSf{kd miyfC/;k¡] LokLF; ,oa 
mÙkjthfork vkSj jktuhfrd l'kDrhdj.k uked 
pkj {ks=kksa esa ySafxd varjky dk ijh{k.k djrk 
gSA

	 3.	 oSf'od ySafxd varjky fjiksVZ&2018 esa Hkkjr dks 
lexz :i ls 0.665 vadksa ds lkFk 108ok¡ LFkku 
gkfly gqvk gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	75.	oSf'od iks"k.k fjiksVZ&2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 blds vuqlkj laiw.kZ fo'o esa LVaVsM cPpksa dh 
dqy la[;k esa yxHkx 31 izfr'kr cPps Hkkjrh; 
gSaA

	 2.	 dqiks"k.k ihfM+r cPpksa dh la[;k ds ekeys esa 
Hkkjr nqfu;k esa igys LFkku ij gSA

	 3.	 blds vuqlkj dqiks"k.k ds dkj.k vksojosV cPpksa 
dh la[;k Hkkjr esa 10 yk[k ls vf/d gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	76.	dasnzh; ekuo lalk/u fodkl ea=kky; }kjk nloha Dykl 

rd ds fo|kfFkZ;ksa gsrq Ldwy cSx ds o”ku dks ysdj 
tkjh fd;s x, funsZ'kksa ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 igyh vkSj nwljh Dykl ds cPpksa ds Ldwy cSx 
dk o”ku 4 fdxzk- ls vf/d ugha gksuk pkfg;sA

	 2.	 rhljh ls ysdj ik¡poh Dykl rd ds cPpksa ds 
Ldwy cSx dk o”ku 1.5 fdxzk- ls vf/d ugha 
gksuk pkfg;sA

	 3.	 NBh vkSj lkroha Dykl ds fo|kfFkZ;ksa ds Ldwy 
cSx dk o”ku 4 fdxzk ls vf/d ugha gksuk pkfg;sA

	 	mi;qZDr dFkuksa esa ls dkSUk&ls lgh ugha gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3

	 (d)	 1, 2 vkSj 3

	 74.	 Which of the following statement(s) is/are correct?
	 1.	 The Global Gender Gap Report is released 

by the World Economic Forum.
	 2.	 The Global Gender Gap Index examines 

the gap in four categories: Economic 
Participation and Opportunity, Educational 
Attainment, Health and Survival and 
Political Empowerment.

	 3.	 In the Global Gender Gap Report-2018, 
India has ranked 108th with overall score of 
0.665.

	 Code:
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2  and 3

	 75.	 With reference to the Global Nutrition Report-2018, 
consider the following statements:

	 1.	 According to this, approximately 31 percent 
stunted children all over the world are 
Indians.

	 2.	 India ranked first in the world in the case 
of the number of children suffering from 
malnutrition.

	 3.	 According to this, the number of overweight 
children on account of malnutrition is more 
than 10 lakh in India.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2  and 3

	 76.	 Consider the following statements in the context 
of the guidelines issued by the Union Ministry 
of Human Resources Development regarding the 
weight of the school bag for the students up to 
class x:

	 1.	 The school bags of children of the class one 
and two should not be more than 4kg.

	 2.	 The school bags of children from the class 
third to fifth should not be more than 1.5kg.

	 3.	 The school bags of children of the sixth and 
seventh class should not be more than 4kg.

		  Which of the statements given above are not 
correct?

	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
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	77.	^mQtkZ n{krk C;wjks* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 Hkkjr ljdkj }kjk mQtkZ laj{k.k vf/fu;e] 2001 
ds mica/ksa ds varxZr 1 ekpZ] 2005 dks bldh 
LFkkiuk dh xbZ FkhA

	 2.	 bldk mn~ns'; mQtkZ laj{k.k vf/fu;e] 2001 
ds lexz <k¡ps ds vanj Lo&fofu;eu vkSj ck”kkj 
fl¼karksa dks egÙo nsrs gq, ,slh uhfr;ksa ,oa 
j.kuhfr;ksa ds fodkl esa lgk;rk iznku djuk gS 
ftudk izeq[k y{; Hkkjrh; vFkZO;oLFkk esa mQtkZ 
dh xgurk dks de djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	78.	esdsnkrq ifj;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g rfeyukMq }kjk dkosjh unh ij LFkkfir dh 
tk jgh gSA

	 2.	 bldh izLrkfor {kerk 48 Vh,elh gSA

	 3.	 bldk izkFkfed mn~ns'; psUubZ dks is;ty dh 
vkiwfrZ djuk vkSj bl {ks=k esa Hkwty dk iquHkZj.k 
djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	79.	dasnzh; ty vk;ksx ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ty lalk/u ds {ks=k esa ;g ns'k dk izeq[k rduhdh 
laxBu gS] ftldk eq[;ky; ubZ fnYyh esa gSA

	 2.	 bl ij ck<+ fu;a=k.k] flapkbZ] ukSogu] is;ty 
vkiwfrZ vkSj tyfo|qr fodkl ds iz;kstu gsrq 
lewps ns'k ds ty lalk/ukas ds fu;a=k.k] laj{k.k 
vkSj miHkksx laca/h ;kstuk ds fy;s jkT; ljdkjkas 
ds ijke'kZ ls 'kq: djus] lefUor djus rFkk vkxs 
c<+kus dk mÙkjnkf;Ro gSA

	 3.	 blds rhu rduhdh foax gSa& vfHkdYi ,oa 
vuqla/ku] ty vk;kstuk ,oa ifj;kstuk rFkk unh 
izca/A

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3

	 (d)	 1, 2 vkSj 3

	 77.	 Consider the following statements in the context 
of Bureau of Energy Efficiency (BEE):

	 1.	 It was established on March 1, 2005 under 
the provisions of the Energy Conservation 
Act, 2001 by the Government of India.

	 2.	 Its aim is to assist in developing policies and 
strategies with a thrust on self-regulation 
and market principles, within the overall 
framework of the Energy Conservation Act, 
2001 with the primary objective of reducing 
energy intensity of the Indian economy. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 78.	 With reference to the Mekedatu Project, consider 
the following statements:

	 1.	 It is being set-up by Tamil Nadu on the 
Kaveri river.

	 2.	 Its proposed capacity is 48 TMC.
	 3.	 Its primary objective is to supply drinking 

water to Chennai and to recharge the 
groundwater in this area.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 79.	 Consider the following statements in the context 
of Central Water Commission:

	 1.	 It is the premier technical organization of 
the country in the field of water resources, 
which headquarter is located in New Delhi.

	 2.	 For the purpose of flood control, 
irrigation, shipping, drinking water supply 
and hydroelectric development, it is 
responsible for starting, coordinating and 
carrying forward in consultation with state 
governments for the control, conservation 
and consumption planning of the entire 
country's water resources.

	 3.	 It has three technical wings - Designs & 
Research, Water Planning & Project and 
River Management.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	80.	^gkSlyk&2018* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 gky eas dasnzh; ekuo lalk/u fodkl ea=kky; 

}kjk cky ns[kHkky laLFkkuksa ds cPpksa gsrq bldk 

ubZ fnYyh esa mn~?kkVu fd;k x;kA

	 2.	 bl dk;ZØe dk mn~ns'; ns'k Hkj ds cky ns[kHkky 

laLFkkuksa ds cPpksa dks jk"Vªh; eap iznku djuk 

Fkk] rkfd os viuh izfrHkk dk izn'kZu dj ldsaA

	 3.	 bl dk;ZØe dk fo"k; ^cPpksa dh lqj{kk* FkkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	81.	,FksukWy fefJr isVªksy dk;ZØe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 blds rgr gky esa dasnz ljdkj }kjk ,FksukWy 

fu"d"kZ.k ds nk;js dks c<+krs gq, eDdk] Tokj] 

cktjk tSls [kk|kUukas ds vf/'ks"k vkSj iQyksa@

lfC”k;ksa ds vif'k"V ls Hkh ,FksukWy fu"d"kZ.k dh 

vuqefr nh xbZ gSA

	 2.	 blds rgr ,FksukWy dh izkfIr gsrq fy;k x;k ;g 

fu.kZ; vkiwfrZ o"kZ 2018-19 ls ykxw gksxkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	82.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ljdkj ds i;ZVu ea=kky; }kjk Lons'k n'kZu 

;kstuk dh 'kq#vkr 2014-15 easa dh xbZ FkhA

	 2.	 bl Lons'k n'kZu ;kstuk dk mn~ns'; ns'k esa 

;kstukc¼ vkSj izkFkfedrk ds rkSj ij [kkl 

fo'ks"krk okys lfdZVksa dk fodkl djuk gSA

	 3.	 gky esa bl ;kstuk ds rgr ef.kiqj esa igyh 

Lons'k n'kZu ifj;kstuk dk mn~?kkVu fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3

	 (d)	 1, 2 vkSj 3

	 80.	 Consider the following statements in the context 
of ‘Hausla 2018’:

	 1.	 Recently, it was inaugurated by the Ministry 
of Human Resource Development in New 
Delhi for the Children of Child Care 
Institutions. 

	 2.	 The purpose of this program was to provide 
a national platform to children of child care 
institutions across the country, so that they 
can show their talent.

	 3.	 The theme of this event was “Child Safety”.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 81.	 With reference to the Ethanol Blended Petrol (EBP) 
programme, consider the following statements:

	 1.	 Under this, extending the ambit of ethanol 
extraction from food grains like maize, 
millets and waste of fruit/vegetables ethanol 
extraction has been allowed by central 
government recently.

	 2.	 Under this, the decision will be applicable 
for procurement for the ethanol supply year 
2018-19.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 82.	 Consider the following statements:
	 1.	 The Swadesh Darshan scheme was 

launched by the Ministry of Tourism of the 
Government of India in the year 2014-15.

	 2.	 The objective of this Swadesh Darshan 
scheme is to develop special circuits in the 
country as a planned and priority.

	 3.	 Recently, the first Swadesh Darshan scheme 
was inaugurated in Manipur under this 
scheme.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 3 only
	 (d)	 1, 2 and 3



24lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	83.	iszQV foyst ds lanHkZ esa fuEufyf[kr dFkukas ij fopkj 
dhft;s%

	 1.	 ;g ,d ,slk fufnZ"V {ks=k gksrk gS tgk¡ ifjogu 
ds fofHkUu lk/u] eky forj.k vkSj vU; 
ykWftfLVDl lqfo/k,¡ flaØukb”k rjhds ls cM+s 
iSekus ij miyC/ gksrh gSaA

	 2.	 bldk eq[; dk;Z ifjogu ds fofHkUu lk/uksa dk 
izca/u ,oa mudh mi;ksfxrk lqfuf'pr djuk] 
mueas rkyesy fcBkuk vkSj ekStwnk ifjogu lk/uksa 
eas HkhM+HkkM+ dks de djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	84.	^'kkgiqjdaMh MSe ifj;kstuk* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bldk fodkl iatkc esa C;kl unh ij fd;k 
tk,xkA

	 2.	 blds fy;s iz/kuea=kh Ñf"k flapkbZ ;kstuk&Rofjr 
flapkbZ ykHk dk;ZØe dh orZeku 99 ifj;kstukvksa 
ds leku ukckMZ ds ekè;e ls dasnzh; lgk;rk 
iznku dh tk,xhA

	 3.	 blds dk;kZUo;u dh fuxjkuh gsrq dasnzh; ty 
vk;ksx dh orZeku fuxjkuh O;oLFkk ds vfrfjDr 
dsanzh; ty vk;ksx ds lnL; dh vè;{krk esa 
,d lfefr dk xBu fd;k tk,xkA

	 4.	 bls twu 2022 rd iwjk djus dh ;kstuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 4

	 (c)	 dsoy 2] 3 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	85.	oYMZ VSysaV jSa¯dx 2018 ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g vkbZ,eMh fc”kusl Ldwy] fLoV~”kjySaM }kjk 
tkjh dh xbZ gSA

	 2.	 ;g jSa¯dx fuos'k] vihy vkSj rS;kjh uked rhu 
ladsrdksa ij vk/kfjr gSA

	 3.	 dqy 63 ns'kksa dks nh xbZ bl jSa¯dx esa Hkkjr dks 
50ok¡ LFkku feyk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	

	 (d)	 1, 2 vkSj 3

	 83.	 Consider the following statements in the context 
of Freight Village:

	 1.	 This is a specified area where various means 
of transport, distribution of goods and 
other logistics facilities are available in a 
synchronized manner extensively.

	 2.	 Its main function is to ensure the 
management and utilization of various 
means of transportation, to co-ordinate 
and to reduce the congestion in existing 
transport.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 84.	 With reference to the ‘Shahpurkandi Dam Project’, 
consider the following statements:

	 1.	 It will be developed on the river Beas in 
Punjab.

	 2.	 Funding for Central Assistance for this shall 
be made through NABARD like funding 
of 99 Pradhan Mantri Krishi Sinchayee 
Yojana-Accelerated Irrigation Benefits 
Program.

	 3.	 In addition to existing monitoring 
mechanism for projects by Central Water 
Commission, a committee under it would 
be constituted to oversee/monitor the 
implementation of project.

	 4.	 It is planned to be completed by June 2022.

		  Which of the statements given above are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 4 only
	 (c)	 2, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 85.	 Consider the following statements in the context  
of World Talent Ranking 2018:

	 1.	 It has been issued by IMD Business School, 
Switzerland.

	 2.	 This ranking is based on three indicators 
Investment, Appeal and Readiness.

	 3.	 India ranked 50th in this ranking given out 
of total 63 countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	86.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 gky esa iz/kuea=kh us ns'k ds lHkh f”kyksa esa flVh 

xSl forj.k ifj;kstuk (lhthMh) dh vk/kjf'kyk 

j[kh gSA

	 2.	 bl ifj;kstuk dk mn~ns'; ns'k ds ukxfjdksa ds 

fy;s LoPN jlksbZ b±/u vkSj LoPN ifjogu b±/u 

dh miyC/rk c<+kuk gSA

	 3.	 orZeku le; esa ns'k ds mQtkZ feJ.k esa xSl dh 

fgLlsnkjh 15% ls dqN gh vf/d gS ftls 24% 

ds Lrj ij igq¡pkus dk y{; gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	87.	fuEufyf[kr dFkukas ij fopkj dhft;s%

	 1.	 gky esa laiw.kZ fo'o esa gkFk ls cuh dkyhuksa ds 

fy;s izfl¼ mÙkj izns'k ds Hknksgh f”kys dks 

^,DliksVZ ,DlhySal* dk VSx iznku fd;k x;k gSA

	 2.	 ;g ntkZ izkIr djus okyk Hknksgh ns'k dk izFke 

'kgj gSA

	 3.	 Hknksgh dks ;g ntkZ okf.kT; ea=kky; ds v/hu 

dk;Zjr fons'k O;kikj funs'kky; }kjk fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	88.	lksuiqj i'kq esyk ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g izR;sd o"kZ dkfrZd iwf.kZek ds fnu xaxk vkSj 

xaMd ufn;ksa ds laxe ij lksuiqj] fcgkj eas 

vk;ksftr fd;k tkrk gSA

	 2.	 ;g ,f'k;k dk lcls cM+k i'kq esyk gS tks dsoy 

15 fnuksa rd pyrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	89.	la;qDr jk"Vª dh lkaLÑfrd ,tsalh ;wusLdks us fuEufyf[kr 

esa ls fdl ns'k dh laxhr fo/k ̂ jsxs* dks gky esa oSf'od 

vewrZ fojklr lwph esa 'kkfey fd;k gS\

	 (a)	 teSdk

	 (b)	 nf{k.k vizQhdk

	 (c)	 ukbthfj;k

	 (d)	 dsU;k

	 86.	 Which of the following statement(s) is/are 
correct?

	 1.	 Recently, the Prime Minister laid the 
foundation stone of the City Gas Distribution 
(CGD) Project in all the districts of the 
country.

	 2.	 The purpose of this project is to increase 
the availability of cleaner cooking fuel and 
cleaner transportation fuel for citizens of 
the country.

	 3.	 At present, the share of gas in the country's 
energy share is just over 15%, which is 
aimed to reach at 24% figure.

	 Code:
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 87.	 Consider the following statements:
	 1.	 Recently, Bhadohi district of Uttar Pradesh, 

famous for hand-made carpets, has been 
given the tag of 'Export Excellence'.

	 2.	 Bhadohi is the first city in the country to get 
this status.

	 3.	 Bhadohi has been given this status by 
the Directorate General of Foreign Trade 
(DGFT) under the Ministry of Commerce.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 88.	 Consider the following statements in the context  
of Sonepur Cattle Fair:

	 1.	 It is held every year on the day of Kartik 
Purnima, on the confluence of Ganges and 
Gandak rivers in Sonepur, Bihar.

	 2.	 It is the biggest cattle fair of Asia that lasts 
for only fifteen days.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 89.	 With which of the following countries 'Reggae' 
music mode is associated which is recently being 
incorporated into World Intangible Heritage List 
by UN's cultural agency UNESCO?

	 (a)	 Jamaica
	 (b)	 South Africa
	 (c)	 Nigeria
	 (d)	 Kenya
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	90.	fuEufyf[kr dFkukas ij fopkj dhft;s%

	 1.	 gky esa fcgkj ds oS'kkyh f”kys ds gk”khiqj esa 

Hkxoku cq¼ dh 70 iQhV mQ¡ph ewfrZ dk vukoj.k 

fd;k x;kA

	 2.	 bl ewfrZ esa Hkxoku cq¼ dks /eZpØ izorZu eqnzk 

esa n'kkZ;k x;k gSA

	 3.	 xqykch cyqvk iRFkjksa ls fufeZr ;g ewfrZ ns'k esa 

Hkxoku cq¼ dh nwljh lcls mQ¡ph ewfrZ gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	91.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gheksiQhfy;k uked vkuqoaf'kd jksx ls xzflr 

O;fDr ds 'kjhj eas jDr dk FkDdk ugha terkA

	 2.	 o.kkZU/rk Ukked vkuqoaf'kd jksx ls xzflr O;fDr 

yky o gjs jax dks ugha igpku ikrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	92.	'kSoky ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;s DyksjksfiQy ;qDr rFkk Loiks"kh tyh; tho 	
gksrs gSaA

	 2.	 budk mi;ksx Hkkstu] vk;ksMhu fuekZ.k rFkk vkS"kf/ 

fuekZ.k esa fd;k tkrk gSA

	 3.	 ;s i;kZoj.k esa ?kqfyr vkWDlhtu (O2) ds Lrj 

dks ?kVk nsrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	93.	fuEufyf[kr dFkukas ij fopkj dhft;s%

	 1.	 foVkfeu A dh deh ls csjh&csjh uked jksx 

gksrk gSA

	 2.	 foVkfeu B1 dh deh ls jrkSa/h uked jksx 

gksrk gSA

	 3.	 foVkfeu D dh deh ls fjdsV~l uked jksx 

gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 90.	 Consider the following statements:
	 1.	 Recently, 70 feet tall statue of Lord Buddha 

was unveiled at Hajipur in Vaishali district 
of Bihar.

	 2.	 In this statue, Lord Buddha is depicted in 
Dharmachakra Pravartana Mudra.

	 3.	 This statue of pink sandstone is the second 
tallest statue of Lord Buddha in the country.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 3 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 91.	 Consider the following statements:
	 1.	 A person with a genetic disease named 

Hemophilia, does not have blood clots in 
the body.

	 2.	 Colour blindness, a genetic disease in which 
a affected person unable to distinguish Red 
& Green colour. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 92.	 Consider the following statements regarding Algae:
	 1.	 These are chlorophyll-rich and autotrophic 

aquatic organisms.
	 2.	 They are used in food, iodine formation and 

medicine manufacturing.
	 3.	 They reduce the level of dissolved oxygen 

(O2) in the environment.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 93.	 Consider the following statements: 
	 1.	 The deficiency of Vitamin A causes disease 

naming beri-beri.
	 2.	 The deficiency of Vitamin B1 causes disease 

naming night blindness.
	 3.	 The deficiency of Vitamin D causes disease 

called rickets.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	94.	izdk'k la'ys"k.k dh izfØ;k ds lanHkZ eas fuEufyf[kr 
dFkukas ij fopkj dhft;s%

	 1.	 bl izfØ;k esa gjs isM+&ikS/s ljy vdkcZfud 
inkFkZ dks lw;Z izdk'k dh mifLFkfr esa tfVy 
rFkk mQtkZ;qDr dkcZfud inkFkks± esa cnyrs gSaA

	 2.	 bl izfØ;k esa izdk'kdh; mQtkZ jklk;fud mQtkZ 
esa cnyrh gSA

	 3.	 bl izfØ;k esa O2 izfr&mRikn ds :i esa eqDr 
gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	95.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 1.	 vkWfDlu uked ikni gkWeksZu ikS/ksa dh yackbZ eas 
o`f¼ ds fy;s mÙkjnk;h gksrk gSA

	 2.	 ,fFkyhu uked ikni gkWeksZu ikS/ksa dh o`f¼ dks 
fu;af=kr djrk gSA

	 3.	 ,fClfld ,flM uked ikni gkWeksZu ikS/ksa esa 
dfy;ksa rFkk chtksa ds vadqj.k dks jksdrk gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	96.	th,l,yoh&,eds III jkWdsV ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g bljks }kjk fodflr fd;k x;k ,d f=kLrjh; 
Hkkjh iz{ksi.k ;ku gSA

	 2.	 bldh lgk;rk ls yxHkx 10 Vu o”kuh mixzg 
dks Hkw&rqY;dkfyd varj.k d{kk eas rFkk 4 Vu 
o”kuh mixzg dks fuEu Hkw&d{kk esa iz{ksfir fd;k 
tk ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	97.	^lsaVhuy&3B lSVsykbV* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 i`Foh voyksdu laca/h bl mixzg dks uklk }kjk 
rS;kj fd;k x;k gSA

	 2.	 bldk izeq[k mn~ns'; i`Foh ij mifLFkr egklkxjksa 
dh fuxjkuh djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 94.	 With reference to the Process of Photosynthesis, 
consider the following statements:

	 1.	 In this process, green plants convert simple 
inorganic substances into complex and 
energy-rich organic matter in the presence 
of sunlight.

	 2.	 In this process, the light energy converted 
into chemical energy.

	 3.	 In this process, O2 is released as a  
waste-product.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 95.	 Which of the following statement(s) is/are not 
correct?

	 1.	 Plant hormone, named auxin, is responsible 
for increasing the height of the plants.

	 2.	 Plant hormone, named ethylene regulates 
the growth of plants.

	 3.	 Plant hormone, named abscisic acid 
prevents the germination of buds and seeds 
in plants.

	 Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 96.	 Consider the following statements in the context 
of GSLV Mk III Rocket:

	 1.	 This is a three-tier heavy launch vehicle 
developed by ISRO.

	 2.	 With the help of this, about 10 tonne 
weighing satellite can be launched in 
geosynchronous transfer orbit and a 4-tonne 
satellite can be launched in the low earth-
orbit.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 97.	 Consider the following statements in the context 
of Sentinel -3B Satellite:

	 1.	 This satellite on Earth observation has been 
designed by NASA.

	 2.	 Its main purpose is to monitor the oceans on 
Earth.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 98.	 Consider the following statements:
	 1.	 Recently, India's fastest and first multi-

petaflops supercomputer 'Pratyush' was 
unveiled at the Indian Institute of Tropical 
Meteorology based in Pune.

	 2.	 It will be used mainly in the predictions of 
monsoon, cyclone, tsunami, earthquake, air 
quality, lightening, fisheries, cold and hot 
streams, floods and droughts.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 99.	 With reference to the Indian National centre for 
Ocean Information Service, consider the following 
statements:

	 1.	 It was established in 1990.
	 2.	 It is an autonomous organization under the 

Ministry of Earth Sciences.
	 3.	 It provides adequate and important 

information about the ocean through 
continuous ocean observation to society, 
industry, government agencies and scientific 
communities.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	100.	 Consider the following statements in the context 
of ‘UTraq’:

	 1.	 This Recently launched GPS is the new 
GPS module of India.

	 2.	 This GPS will work with the help of Indian 
Regional Navigation Satellite System 
(IRNSS) and sailor (Indian Constellation) 
and will update about the actual location.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	98.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gky esa Hkkjr ds igys ,oa rhozre eYVh isVkÝykWi 
lqij daI;wVj ^izR;q"k* dk vukoj.k iq.ks fLFkr 
Hkkjrh; m".kdfVca/h; ekSle foKku laLFkku esa 
fd;k x;kA

	 2.	 bldk mi;ksx eq[;r% ekulwu] pØokr] lqukeh] 
Hkwdai] ok;q xq.koÙkk] rfM+r] eRL;u] 'khr o m".k 
ty/kjk] ck<+ o lw[kk ds iwokZuqeku esa fd;k 
tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksukas	 (d)	 u rks 1 vkSj u gh 2
	99.	Hkkjrh; jk"Vªh; egklkxj lwpuk lsok dsanz ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk xBu 1990 esa fd;k x;k FkkA

	 2.	 ;g i`Foh foKku ea=kky; ds v/hu ,d Lok;Ùk 
laxBu gSA

	 3.	 ;g lekt] m|ksx] ljdkjh ,tsafl;ksa rFkk oSKkfud 
leqnk;kas dks fujarj egklkxjh; voyksdu ds 
ekè;e ls egklkxj ds fo"k; esa i;kZIr vkSj 
egÙoiw.kZ tkudkfj;k¡ miyC/ djkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	100.	‘UTraq’ ds lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 gky esa ykWUp fd;k x;k ;g Hkkjr dk u;k 
thih,l ekWM~;wy gSA

	 2.	 ;g thih,l Hkkjr dh {ks=kh; ukSogu mixzg 
iz.kkyh vkSj ukfod dh enn ls dke djsxk rFkk 
okLrfod yksds'ku ds ckjs esa crk,xkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2


